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Note :– This paper is of Seventy (70) marks divided into

Two (02) Sections ‘A’ and ‘B’. Attempt the

questions contained in these Sections according to

the detailed instructions given therein. Candidates

should limit their answers to the questions on the

given answer sheet. No additional (B) answer

sheet will be issued.

uksV :µ ;g iz'u&i= lÙkj (70) vadksa dk gS] tks nks (02) [k.Mksa

^d* rFkk ^[k* esa foHkkftr gSA izR;sd [k.M esa fn, x,

foLr̀r funsZ'kksa ds vuqlkj gh iz'uksa dks gy djuk gSA ijh{kkFkhZ

vius iz'uksa ds mÙkj nh xbZ mÙkj&iqfLrdk rd gh lhfer

j[ksaA dksbZ vfrfjDr (ch) mÙkj&iqfLrdk tkjh ugha dh

tk;sxhA
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Section–A

([k.M–d)

Long Answer Type Questions

(nh?kZ mÙkjh; iz'u) 2×19=38

Note :– Section ‘A’ contains Five (05) Long-answer

type questions of Nineteen (19) marks each.

Learners are required to answer any two (02)

questions only.

uksV :µ [k.M ^d* esa ik¡p (05) nh?kZ mÙkjh; iz'u fn;s x;s gSa] izR;sd

iz'u ds fy, mUuhl (19) vad fu/kkZfjr gSaA f'k{kk£Fk;ksa dks

buesa ls dsoy nks (02) iz'uksa ds mÙkj nsus gSaA

1. Distinguish between primary and secondary data and

discuss the various methods of collecting primary data.

izkFkfed ,oa f}rh;d leadksa esa vUrj Li"V dhft, rFkk izkFkfed

leadksa dks ladfyr djus dh fofHkék jhfr;ksa dh O;k[;k

dhft,A

2. Calculate standard deviation and its coefficient from the

following data :
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Class Interval Frequency

10–20 5

20–30 10

30–40 10

40–50 25

50–60 25

60–70 15

fuEu Js.kh ls izeki fopyu ,oa mldk xq.kkad Kkr

dhft, %

oxZ Js.kh vko`fÙk

10–20 5

20–30 10

30–40 10

40–50 25

50–60 25

60–70 15

3. Define skewness. Explain the various methods of

measuring skewness.

fo"kerk dh ifjHkk"kk nhft,A fo"kerk dks ekius dh fofHkék

fof/k;k¡ Li"V dhft,A
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4. Find out two regression equations from the following :

x y

1 15

2 18

3 25

4 35

5 50

fuEufyf[kr ls nks izrhixeu lehdj.k Kkr dhft, %

x y

1 15

2 18

3 25

4 35

5 50

5. Define Index Number. Explain its utility and importance.

funsZ'kkad dh ifjHkk"kk nhft,A bldh mi;ksfxrk ,oa egRo crkb,A
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Section–B

([k.M–[k)

Short Answer Type Questions

(y?kq mÙkjh; iz'u) 4×8=32

Note :– Section ‘B’ contains Eight (08) Short-answer type

questions of Eight (08) marks each. Learners are

required to answer any four (04) questions only.

uksV :µ [k.M ^[k* esa vkB (08) y?kq mÙkjh; iz'u fn;s x;s gSa]

izR;sd iz'u ds fy, vkB (08) vad fu/kkZfjr gSaA f'k{kk£Fk;ksa

dks buesa ls dsoy pkj (04) iz'uksa ds mÙkj nsus gSaA

1. What are the objective of classification and tabulation ?

vk¡dM+ksa ds oxhZdj.k ,oa lkj.kh;u ds mís'; D;k gSa \

2. What is quartile deviation ? Discuss its merits and

demerits.

prqFkZd fopyu D;k gS \ blds xq.k&nks"k crkb,A

3. Explain the characteristics of binomial distribution.

f}in caVu dh fo'ks"krk,¡ crkb,A
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4. Calculate median from the following data :

C.I. f

20–30 4

20–40 16

20–50 56

20–60 97

20–70 124

20–80 137

20–90 146

20–100 150

fuEufyf[kr vk¡dM+ksa ls ekf/;dk dh x.kuk dhft, %

oxZ vUrjky vko`fÙk

20–30 4

20–40 16

20–50 56

20–60 97

20–70 124

20–80 137

20–90 146

20–100 150
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5. Explain the importance of unemployment statistics.

csjkstxkjh leadksa dk egRo le>kb,A

6. Calculate coefficient of correlation between x and y :

x y

82 62

88 58

94 50

98 46

105 38

109 35

fuEufyf[kr leadksa (x) rFkk (y) ds e/; lglEcU/k xq.kkad

Kkr dhft, %

x y

82 62

88 58

94 50

98 46

105 38

109 35
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7. Write short notes on any two of the following :

(i) Bar diagram

(ii) Measures of dispersion

(iii) Lorenz curve

fuEu ls fdUgha nks ij fVIi.kh fyf[k, %

(i) n.M fp=

(ii) vifdj.k ds eki

(iii) ykjsat oØ

8. From a pack of 52 cards. One card is drawn at random.

What is the probability that it will be (a) Queen (b) A

card of red colour and (c) A king of diamond.

52 iÙkksa dh rk'k dh xìh esa ls ,d iÙkk ;kn`fPNd :i ls [khapk

x;kA bl ckr dh D;k izkf;drk gS fd ;g iÙkk (v) csxe (c)

yky jax rFkk (l) b±V dk ckn'kkg gksxkA

**************


